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Sub CORRELOGRAM()

Dim Lag

Dim n As Integer

Dim Avg As Double

Dim i As Integer, j As Integer
Dim Mat1, Mat2

Dim CLM As Integer

Dim Acov

Lag = InputBox(" B CHEBHR B EETE T 55 (BREIE) DEEEHTA AL T ZELY, “ & vbCrLf & _

vbCrLf & “f=1=L. FRZ[2]. ERRZ[FIREBEDITE?11ELFET, ", "aLays.L")
n = Selection.Rows.Count '"T—43%ZnlIZH&H#H

Select Case Lag
Case2 Ton-1
Avg = WorksheetFunction.Average(Selection) "SEI{EZEAvgl Z&HR

ReDim Mat1(1 To n) 'BIRYECHI| ZEHMat 14T EA1E
ReDim Acov(Lag) 'EIRIERHIZEEAcovE#IEA{E

Forj=1Ton X
Mat1() = Selection(j).Value — Avg 'Mat11Z5% 0D{REZ1&HH
Next
Acov(0) = WorksheetFunction.SumSqg(Mat1) / n 'Acov(0)IZ5%4 0D 7 B E#&Hh

'I—o —MNBCHEBREERERTS(RELESS0)
CLM = Selection.Column + 2

Cells(1, CLM).Value = "S54 (BfEE) "

Cells(1, CLM + 1).Value = "B CHERARE”

Cells(2, CLM).Value = “'0”

Cells(2, CLM + 1).Value = 1

Fori=1To Lag
ReDim Mat2(1 To n) 'EIRIEZ S ZE $iMat2%= ¥ 211t

Forj=1Ton-—i
Mat2(j) = Selection(i + j).Value — Avg 'Mat2(Z5 7 iD{REZIRK
Next

Acov(i) = WorksheetFunction.SumProduct(Mat1, Mat2) / n 'Acov()IZ5%4 0&

5710 B BN E KN
'—o —MBEHBEREERERTS(5T)
Cells(i + 2, CLM).Value = """ &i
Cells(i + 2, CLM + 1).Value = Acov(i) / Acov(0)
Next

'BCHBEREORIZE DS BYI7FERTS
ActiveSheet.Shapes.AddChart2(201, xIColumnClustered).Select
With ActiveChart
.SetSourceData Source:=Range(Cells(2, CLM), Cells(Lag + 2, CLM + 1))
.ChartTitle.Delete
Axes(xICategory).TickLabelPosition = xILow
Axes(xIValue).MinimumScale = -1
Axes(xIValue).MaximumScale = 1
Axes(xIValue, xIPrimary).HasTitle = True
Axes(xICategory, xIPrimary).HasTitle = True
Axes(xIValue, xIPrimary).AxisTitle. Text = “ B S8R {Z %"
Axes(xICategory, xIPrimary).AxisTitle.Text = “FFEIZE"
End With
Case vbNullString
Case Else
MsgBox "HEMHBEFBRHMEZHE TSI/ DHEBEHRTANLTLZSL, " &
vbCrLf & _
vbCrLf & “f=fzL. TRZ[2]. ERRZERGBEDITH?1]1ELFET L7,
vbCritical, "L OIS L"
End Select

End Sub
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